Assembly Instructions

Assembly video please
scan the QR code.

1

OMCOM

MDF Computer Corner PC Table

[ i 'i‘NEEo TWO PEOPLE INSTALL] MODEL: A2-0081

WARNING
Manufacturer and seller expressly disclaim any and all liability for personal injury,
property damage or loss, whether direct, indirect, or incidental, resulting from
the incorrect attachment, improper use, inadequate maintenance, or neglect of
this product.



P2.

A2-0081

oire

N




A2-0081 P3.

PART|QTY| ITEM PART(QTY| ITEM

1| M8X35 | pum @] 2] mex10 | o=
5] M6X60 | cmmm H)| 4 &
(C)] 9| M6X45 | ommm |4 )
()| 4] M6x35 | om @)

E)[ 8] M6X25 | o= K

4| M6X15 | o= D
V ]




A2-0081




	页 1
	页 2
	页 3
	页 4

